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%HUGDVDUNDQ�KDVLO�SHQHOLWLDQ�PHQJHQDL�´3DUWLVLSDVL 3HPXGD�'DODP�PHQJHOROD�

%DGDQ�8VDKD�0LOLN�'HVD��%80'HVD���6WXGL�NDVXV�GL�%80'HVD 7XQDV�0DQGLUL�

'HVD�1JODQJJHUDQ��3DWXN��*XQXQJ�.LGXO���\DQJ�GL�ODNXNDQ PHODOXL�REVHUYDVL��

ZDZDQFDUD��GDQ�VWXGL�GRNXPHQWHU��3HQXOLV�PHQ\LPSXONDQ�EDKZD�SDUWLVLSDVL

SHPXGD�GDODP�PHQJHOROD�%80'HVD 7XQDV�0DQGLUL�DQWDUD�ODLQ���

�� 3DUWLVLSDVL SHPXGD�GDODP�PHQJHOROD�%80'HVD 7XQDV�0DQGLUL�GDSDW�GL�

OLKDW GDUL� WLJD� LQGLNDWRU�\DQJ�SHUWDPD 3HPLNLUDQ��GL�PDQD SHPXGD�'HVD�

1JODQJJHUDQ� EHUSDUWLVLSDVL DNWLI� PHODOXL� LGH�LGH� NUHDWLI� \DQJ� PHUHND�

WHUDSNDQ� GLVDODK� VDWX� SURJUDP� \DQJ� DGD� GL� %80'HVD 7XQDV� 0DQGLUL�

\DLWX�SURJUDP�ZLVDWD��.HPXGLDQ�SDUWLVLSDVL NHGXD�\DNQL�.HDKOLDQ��GDODP�

PHQJHOROD� %80'HVD 7XQDV� 0DQGLUL� SDUD� SHPXGD� GLWHPSDWNDQ� SDGD�

EDJLDQ�\DQJ�VHVXDL�GHQJDQ�NHDKOLDQ�PHUHND�PDVLQJ�PDVLQJ��6HODQMXWQ\D�

\DLWX� SDUWLVLSDVL WHQDJD�� GL� PDQD ���� GDUL� MXPODK� VHOXUXK� SHPXGD� GL�

'HVD� 1JODQJJHUDQ� WHODK� LNXW� WHUOLEDW� GDODP� PHQJHOROD� %80'HVD

WHUXWDPD�GL�VHNWRU�ZLVDWD�GL�PDQD UHQWDQJ�XVLD�PHUHND�\DNQL�DQWDUD�������

WDKXQ�� :DODXSXQ� NHDNWLIDQ� SDUWLVLSDVL� SHPXGD� PDVLK� EHOXP� PHUDWD��

QDPXQ� WHODK� EDQ\DN� XSD\D� \DQJ� GL� ODNXNDQ ROHK� SHPXGD� XQWXN�

PHQLQJNDWNDQ� SDUWLVLSDVL GDODP� PHQJHOROD� %80'HVD�� )DNWDQ\D��

EHUEDJDL� XSD\D� \DQJ� GL� ODNXNDQ SHPXGD� GDODP� PHQJHPEDQJNDQ��

NDZDVDQ�HNRZLVDWD� \DQJ�DGD�GL�'HVD�1JODQJJHUDQ� WHODK�EHUKDVLO�GDODP�

PHPSURPRVLNDQ�NHXQJJXODQ�GDQ�NHXQLNDQ�GDUL�GHVWLQDVL�ZLVDWD�\DQJ�DGD�

GL� 'HVD� 1JODQJJHUDQ� PHODOXL� PHGLD� FHWDN�� RQOLQH� PDXSXQ� VHFDUD�

ODQJVXQJ�NHSDGD�ZLVDWDZDQ�VHKLQJJD�ZLVDWD�WHUVHEXW�PHQMDGL�GHVD�ZLVDWD�

WHUEDLN�VH�$VHDQ�

�� 'HQJDQ� DGDQ\D� %80'HVD 7XQDV� 0DQGLUL� WHODK� PHPEHULNDQ� PDQIDDW�

EDJL�PDV\DUDNDW�'HVD�GDQ�SDUD�SHPXGD�'HVD�1JODQJJHUDQ��PDQIDDW� LWX�

EHUXSD� WHUFLSWDQ\D� ODSDQJDQ� SHNHUMDDQ� EDJL� SDUD� SHPXGD� GDQ� PDQIDDW�
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EDJL� PDV\DUDNDW� \DLWX� EDQ\DN� WHUVHGLD� XVDKD� HNRQRPL� EDUX� VHSHUWL�

ZDUXQJ�ZDUXQJ�NHFLO��XVDKD�PDNDQDQ��GDQ�KRPHVWD\��

�� 8QWXN�SHQJHPEDQJDQ�XVDKD�HNRQRPL�\DQJ�EHUEDVLV�,OPX�(NRQRPL�,VODP�

GL�%80'HV�7XQDV�0DQGLUL�WHUOHWDN�SDGD�SURJUDP�8VDKD�(NRQRPL�'HVD�

6LPSDQ� 3LQMDP� �8('�63�� \DLWX� NHUMDVDPD� DQWDUD� %80'HVD 7XQDV�

0DQGLUL�GHQJDQ�6DUDQD�0XOWLJUL\D�)LQDQVLDO��60)��GL�PDQD DNDG�\DQJ�GL�

JXQDNDQ \DLWX� DNDG� $NDG� 7DEEDUX¶� $O�4DUG� GL� PDQD SLKDN� 60)�

PHPEHULNDQ� SHPELD\DDQ� GDQD� XQWXN� UHQRYDVL� KRPHVWD\� GHQJDQ�

WDPEDKDQ�ELD\D����GL�PDQD QDQWLQ\D�ELD\D�WHUVHEXW�DNDQ�NHPEDOL ODJL�NH�

PDV\DUDNDW�� $NDG� \DQJ� NHGXD� \DLWX� DNDG� 0XGKDUDEDK� GL� PDQD GL�

JXQDNDQ GDODP�WUDQVDNVL�VLPSDQ�SLQMDP�DQWDUD�%80'HVD 7XQDV�0DQGLUL�

GHQJDQ� PDV\DUDNDW�� GDODP� WUDQVDNVL� LQL� MXJD� WHUGDSDW� WDPEDKDQ� ELD\D�

VHEHVDU����GDQ�QDQWLQ\D�MXJD�DNDQ�NHPEDOL�ODJL�NH�PDV\DUDNDW�
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%HUGDVDUNDQ�NHVLPSXODQ�\DQJ�GLWDULN�GDUL�KDVLO�SHQHOLWLDQ��PDND�SHQXOLV�

PHQFRED� PHPEHULNDQ� VDUDQ� XQWXN� %80'HVD 7XQDV� 0DQGLUL� GDQ� SHQXOLV�

VHODQMXWQ\D�\DQJ�DNDQ�PHQHOLWL�KDO�WHUNDLW�GHQJDQ�SHQHOLWLDQ�LQL��\DLWX�

�� 'LKDUDSNDQ�%80'HVD 7XQDV�0DQGLUL�GDSDW�PHPSHNHUMDNDQ�SHPXGD�GL�

VHPXD�SURJUDP�\DQJ�DGD�GL�%80'HVD WLGDN�SDGD�SURJUDP�ZLVDWD� VDMD��

.HPXGLDQ�SHPXGD�MXJD�GLKDUDSNDQ�DJDU�SDUWLVLSDVLQ\D�GLWLQJNDWNDQ�ODJL�

WHUXWDPD�GDUL�VHJL�LQRYDVL�GDQ�NUHDWLYLWDV�NDUHQD�%80'HVD PHZDMLENDQ�

EDKZD�VHWLDS���WDKXQ�VHNDOL�KDUXV��PHQFLSWDNDQ�SURJUDP�EDUX�

�� %DJL� SHQXOLV� VHODQMXWQ\D� GLKDUDSNDQ� DJDU� PHQJNDML� OHELK� GDODP�

SHUPDVDODKDQ� \DQJ� DGD� EHUGDVDUNDQ� WHRUL� GDQ� SUDNWHN� GLODSDQJDQ� DJDU�

KDVLO� \DQJ� GL� SHUROHK UHOHYDQ�� 7HUXWDPD� SDGD� VLVWHP� SHQJXNXUDQ�

SDUWLVLSDVL SHPXGD�SHUVSHNWLI�(NRQRPL�,VODP�OHELK�GLWHNDQNDQ��VHKLQJJD�

VLVWHP� \DQJ� GL� JXQDNDQ SDGD� SHQHOLWLDQ� VHEHOXP�GDQ� VHVXGDKQ\D� GDSDW�

GLEDQGLQJNDQ� DJDU�PHQGDSDWNDQ� VLVWHP� SHQJXNXUDQ� SDUWLVLSDVL SHPXGD�

SHUVSHNWLI�(NRQRPL�,VODP�\DQJ�OHELK�DNXUDW�


